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NameGuided Practice  29

Which number can be moved
to change the ≠ to = ?

This is a
________ .

3.  rectangular prism
4.  rectangular pyramid
5.  triangular pyramid

Cross off the coins that
add to 56¢.

Which fact does
not belong?

Mateo is an artist. He sold 
three paintings for $523, 
$278 and $351. Estimate 
the total that Mateo earned 
from these paintings.

Crystal sent nine emails. 
Kaitlyn sent 5 more than 
Crystal, and 6 fewer than 
Marci. How many emails 
did Marci send?

Sopea takes a weekly 
9-mile kayak trip down 
the river. How far does 
she kayak in 8 weeks?

Dirk read 332 pages of a 
novel in one week. Aida 
read 174 pages. Estimate 
how many more pages 
Dirk read than Aida.

Film is sold five rolls to a 
package. Which set shows 
possible numbers of rolls 
that might be purchased?

Using the fewest 
coins, how many 
nickels are there in 
65¢?


